Download PDF from - JACBoardSolutions.com

CMS
Science/Commerce

Total No. of Pages : 32
g3 FA W& ;30

FREUE e uftag
ANNUAL INTERMEDIATE EXAMINATION - 2023
COMPUTER SCIENCE

( Optional )

Total Time : 3 Hours 20 minute Full Marks : 70
FEEW™: 39 20 fire quifh : 70

General Instructions / AW ey
This, Questign baoglct ha

Part-A is of 1MCQ | plcf j-n !

OMR Answm s'hccti;g wluc Wll].

WQ Parts -

Examlnntlon

38 T R § @ 9T § — WF-A TY1 WIM-B,

ur-A A 35 3% F TgfAHedd 91 § F I aem A Y 1 OMR I e W
fafga &{ | YM-A & IW Y& 2.00 3G & 3.35 WG 7% g HO W HFH
370~ OMR I U7 ek Hl 3.35 JYUE W e & |

wm-B A 35 37 & favate 7@ € e I oem @ A M 3w gfEmwm w e
& | WRI-B % IT & 70 WA 3.40 TG A 5.20 NWE 7 PuifE |

wdtenefl wlien & Iv0 WA GfEH Hl S S TR © |

XSC-CMS-(OPT)-SC (12)/5074]| 1 / 32




Download PDF from - JACBoardSolutions.com

WAC 4
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( MCQ BASED QUESTIONS )
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(FgRreed snenfta wv )
Class-12 | Sub.-Computer Science F.M.-35 Time -1 Hour 30 Min,
(F-12) | (Rva-wwgznfgm ) | (ois3s) | (awa-1 ger 30 )

INSTRUCTIONS / fdwt ;

1. Carefully fill up the necessary particulars on the OMR Answer Sheet.

gyl g@F aft famr OMR SR T WO

Put your full signature on the OMR Answer Sheet in the space
provided.

M 3 U TR OMR I T R &) 7 g T H |

There are 35 Multiple Choice Questions in this Part.

T 9 ° $el 35 9g-faswede wA € |

All questions are compulsory. Each question carries 1 mark.

aft vl F I & Afar B wWR@F w A At 1 3% Ruifa 21

There is no negative marking for any wrong answer.
T I F e g 3ieh & wrer Smm

Read all the instructions provided on page 2 of the OMR Answer
Sheet carefully and do accordingly.

OMR TR 9% % g8 2 W yea aft Fidull = emgds @@ qen 36 Igan
%14 S
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Four options are given for each question. You have to darken duly
the most suitable answer on your OMR Answer Sheet, Use only

Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

yedeh W ° 9 ferehed fQd M € | 3 A wed Suge W o T OMR
I T T S —Veh T H1en il haet el 1 HIell Fiel-@15e FHeld H gl
ya | e 1 wam afia Rl

Adhere to the instructions provided in the OMR Answer Sheet
very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it will not be evaluated.

OMR I % W i@ M w1 symgEs uer Hifvw srm=aen 3nast oMR
IO A T B TR IGHT Yoo el A1 SR |
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C++isajan ................. language.
(1)  English (2) -
(3)  Assembly (4)
C++ TS oo oTva &

(1) e (2)
(3) vt (4)

main () is a/an

(1)  Literal (2)
(3) Identifier (4)
main () T .............. el

(1) foreze (2)
(3)  EERERR (@)

XSC-CMS-(OPT)-SC (12)/5074
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High level

None of these

TR e

T ¥ HE el

Function

None of these

: ]

TH 9 &g
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A set of logical operators is

1y +-%/,%

(3) ?:

ifTeher Siatedt o We €
1) +-%/,%

3) ?:

Void data type represents

(1) int data
(3) empty data
Void data SR Sl &
(1) T

@ s
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(4)

(2)

(4)

(2)

(4)

(2)

(4)
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-
-

-
—

88,

None of these

&&, i,

T Q@ WIS T

float data

none of these

o el

T ¥ FS T
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In C++, cin, cout, cerr are predefined stream

(1) operator (2) function

(3)  object (4) none of these
C++ 1 cin, cout T cerr T R Rew ........... %)
(1) 3R (2) =

(3) W (@) T A wE A

‘A'is an example of

(1)  integer literal (2)  string literal
(3)  character literal (4)  bool literal
A'TE ovverennns T I & |

(1) 3w ferere (2) FRgn forexe
(3) e et @) T e
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A variable that holds memory address is called

(1)  Array (2) Class

(3)  Function (4) Pointer

U dftuaet S TR U0SW i 1@l €, SEE ¢
(1) W 2) w9

(3) WRE (4) @

The prefix increment / decrement operators follow the rule

(1) change-then-use (2)  use-then-change

(3) save-and-delete (4) none of these

e e | e TR o e 71 e e B
(1) a“;i‘rraﬁ' 2) TH--UAA

(3) Wa-us- fefee @) T ¥ FE
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The order of evolution of the cxpression A/ B* C- D+ E will be

A/ + - 2 *-*/
B /%= (4)  None of these
Hiweafd A ) B+ C—D-+E & ferspra 1 W 7MW
(1) %/, + - | 2 =/
3 /5= (4) Wﬁﬁaﬁ%?ﬁ

Which of the following concepts means wrapping up of data and

functions together ?
(1}  Inheritance (2)  Encapsulation

(3) Construction (4) None of these

' XSC-CMS-(OPT)-SC (12)/5074| 8/ 32
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Frafafga 1 A fa smewmwn w el e sl dwmgm @l vm e

R 2
(1) =ied (2) A
(3) g @) T

Which of the following is not the member of class ?

(1)  Static function (2)  Friend function

(3) Constructor function (4) Nonec of these

= A F19 %old & USRI & 2

(1) wfes haE 2) S HRM

(3) PG TRM . (4) T R HE &l
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The default access specifier in a class is

(1)  private (2)  public

(3) protected (4)  none of these

T o 1 fewe wedw wifgemr &

(1) W 2 | afecta

(3) WRRE (4) T Q F3 7@

In C++ ... -.. operation is used for dynamic memory alloc‘ation.
(1)  scope resolution (2)  conditional

(3) new (4) relational

C++ H i, HTOIA 1 IYA SR 9ERl ez & few fE
S 8 |

(1) T GEiegRHA (2) HEEe

¥ 4) Fetre
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Which of the following approaches is adapted by object oriented

programming ?

(1) Bottom-up (2) = Top-down

(3)  Left-right (4)  None of these

deaee aiftdes wmfim grr ffefes & € sW-@w giesm s

AT ?
(1)  STeH-3 (2) 2M-IEA
(3) TR-TE (4) ¥8 Q FE T

Private members of a class are accessed by

(1)  member function (2) friend function

(3) both (1) and (2) '(4) none of these

XSC-CMS-(OPT)-SC (12)/5074 | 11 / 32
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T& FoT9 & W39 qEl & .o gR1 UFRE foar e €
(1) H=R A (2) 3 HIEH
(3) (1) ¥R (2) ]I 4) T QR T

An inline function is

(1)  prefixed with keyword inlinel

(2) saves execution time

(3) avr?lilable with calling function

(4)  all of these

T 3o havH |

(1) AT Flas QA Hifeeq @&

() FroaeT w9a EﬁnﬂT g

(3) it G % WY Iue T f

(4) I

(12)/5074 | 12 / 32
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Destructor has the same name as the constructor and it is

preceded by

(1) 2) #

@ - @ $

(1) ! ' 2 #
3 - 4 $

When a class contains objects of other class types as its member

then it is called
(1) Inheritance Graph (2)  Container ship

[3) Derivation graph (4) None of these

XSC-CMS-(OPT)-SC (12)/5074 | 13 / 32




19,

20.

Download PDF from - JACBoardSolutions.com

CMS

@ Sclence/Commerce

Y TF W 4IRS @ & T N 37 T FER F JAfena B € @ 39

.............. wEd £
(1) w=Ew e (2) = fog
) ferEvm (4) T QPR

Which of the following is a multilevel data structure ?
(1) Stack (2) Tree

(3) Queue (4) None of these
e 4 @ =i geeiviad 31 WFRR € 2

(1) wF @ 3#

3 (4) T JHE T
Queue follows

(1) FIFO (2) LFO

(3) GIGO (4) None of these

XSC-CMS-{OPT)-SC (12)/5074
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(1) il

@) T

@
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@)  wl @ g

An insertion in a stack is called

(1)  pop

(3) link

W& | wivwm wl
(1) 9™

(3) féres

Base class is
(1)  Normal class

(3) Child class

(2) push

(4) none of these

.......... W A R |
@ W
(4) ¥ | K @

(2) Abnormal class

(4) None of these

XB8C-.CM8.(OPT)-8C
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QU T R
(1) shia e (2) UEHAA FA
(3) URES MW (4) T ¥ FE @&

If a class X inherits from class Y, then Yiscalled .......... of X.

3

(1)  Super class (2) Sub-class

(3) Abstract class (4]. None of these

uﬁéﬁmxmvﬂmﬁfqﬁm%?ﬁyﬁxm

............. FET I &
(1) U | (2) {q4-Fe119
(3) TR T (4) I Qo
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In public inheritance, a protected data member of the base class

will be treated in a derived class as
(1)  public (2) private

(3)  protected " (4) none of these

Ufeetsh RRCH W 39 9 F Th URRT I A= #, fmes TW *

.............. % T § HET Q|
(1) vl (2) WEER
(3) HRRS 4) T 9@ @

A stream is a sequence of
(1)  loops {2) bytes .

(3) files (4) none of these

XSC-CMS-(OPT)-SC . (12)/5074| 17 / 32
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(1)

(2)

(3)

(4)

(1)

(3)
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Uac s
e 152 S & T F9 ¢!
G\ (2) A=H
R (4) T | FE @I
fstream class supports
[nput operation
Output operation
Input/output operation
None of these
fstream T TEAT A €
Y AW | (2) langz AT |
TIR/AMRE FARIA A (4)  FH A FE el
XSC-CMS-(OPT)-SC (12)/5074 | 18 / 32
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The rows of a relation are known as

(1)  Attribute (2) Tuples

(3) Columns (4)  None of these
e &t Rows & ............ & ®Y § ST WA E

(1) Uee | (2 o

(3) e (4) T ¥ P T
SQL means

(1)  Simple Query Language
(2)  Structured Query Language
(3) Standard Query Language

(4) none of these

XSC-CMS-(OPT)-SC (12)/5074
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SQL &1 Haeid &
(1) fogw | dew (2)
(3) TWU=E = wEA (4)

Duplication of data is known as

(1)  Default (2)
3)  Data Redundancy 4)
3 H Qe B .o, el I 8 |
(1) fewwe )
(3) < &S (4)

CM8
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wEas |4 e

7 | wig T

Delta

None of these

=

FH 9 S &

A Boolean expression that always results in false is called

(1) Fallacy (2) Tautology
(3) Stack (4) None of these
XSC-CMS-(OPT)-SC (12)/5074
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Distributive law states

(1)

(2)

(3)

(4)

X+(Y+Z)=(X+Y)+2Z

X+Y=Y+X

X+YZ=(X+Y)(X+2)

None of these

Distributive law il €

(1)

(2)

(3)

(4)

X+(Y+Z)=(X+Y)+Z
X+Y=Y+X
X+YZ=(X+Y)X+Z)
T QTS T
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Minterm designation of ABCD is

(1) My 2)  my

3) mg (4) None of these
ABCD % faed ............... 4

1y My ) my

@) mg (4) T ¥ g

First network was

(1)  ARPA net (2)  NSF net

(3) Internet (4) None of these
.............. el Yz o

(1) 3RUME (2) TCETEHE

3) TR (4) T @ *IE @

X8C-CMS-(OPT)-SC (12)/5074 | 22 / 32
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The pattern of interconnection of nodes in a network is called

(1) Protocol (2) Topology

(3) Modulation (4) None of thése
TeEE 7 AGH & TFARE F G B .oovvvvnnenn el Al & |
(1) sﬁzﬁaﬁa (2) Gt

(3) TISERH (4) T | & T

XML means

(1) Exempted Markup Language

(2) Extensible Module Language

(3) Extensible Markup Language

(4) None of these

XSC-CMS-(OPT)-SC [(12)/5074
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XML I #aed @

(1) USMeg mrsam wé?r

(2) UEae Hteye o
(3) USHNIEE "i&Y Trrae

(4) ¥H Q DI T8I
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PART-B / ym-B

( SUBJECTIVE BASED QUESTIONS )
( forvafie snenfia e )

Class-1 - '
2 | Sub. Computer Science F.M.-35 Time -1 Hour 30 Min,

(F-12) (ﬁw—wﬁm) (quitw -35) | (wwa-1 w21 30 fe)

INSTRUCTIONS / fidy .

L.

Exami :
aminees are required to answer in their own words as far as

practicable.

wﬁmaﬁawmmﬁama

This question paper has three sections : A, B and C. Total number of

questions is 19.

T U9 4 oiF @US — A, B UF C ¥ | el Wl Y wewm 19 %

3. Section-A — Question Nos. 1 - 7 arc Very short answer type.

Answer any five of these questions in maximum 30 words cach.

Each question carries 1 mark.
wus-A # I¥ FE&A 1 - 7 3 g 3909 TR & € | v @ R o el
¥ T AT | URF W H I e 30 v ¥ AT | e e o
e 1 o7 Fuifa € |
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. 14 arc Short answer type. Answer

Section-B — Question Nos. 8
: : - words each. E
any five of these questions in maximum 50 ach

quesuon carries 3 marks.

WUE-B — 574 GEW 8 - 14 Y 04 § | 7 A B WA  am
Wlmmmmmsomﬁﬁwlmmﬁ
it 3 3t fuifa 2 )

Section-C — Question Nos. 15 - 19 are Long answer type. Answer
any three of these questions in maximum 100 words each. Each

question carries 5 marks.

WUE-C — 99 €& 15 - 19 & Iwg & | 7 A 5l d= 3w & ww
e | TA® W w1 I Aftwan 100 =€) § AR | W TH &)
At 5 3 Pyl R

XSC-CMS-(OPT)-SC (12)/5074 ] 26 / 32
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Section - A

g -A
( Very short answer type quultions )
( afr g Feta W )
Anleer any five questions, 1x5=5
foel o et & IR S
Wht; developed C++ ?
C++ forma foeefiaa foman 2

What are the purposes of following built-in functions ?

a) strcpy
b) tolower ()

Pt face-91 el & 1 st ¥ 2
a) strcpy

b) tolower ()

- What data types would you use to represent the follm;ving items ?

a) Name of the student

b) The number of students in a class.

ﬁﬂri‘aﬁaﬁna‘fﬁwﬁﬁ%%ﬂmmgammmaﬁﬁ ?
a] B &l AH

b) el e 3 forenforat = s

.

XSC-CMS-(OPT)-8C (12)/5074 | 27 / 32
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What will be the output of the following code scgment 7

for (1= 1;1<=20;1+=3)

{

cout << | << "\n";

i
Fretfefga @ dmie #1 ST N AW 2
for(Il=1;1<=20;1+=3)

{

cout << ] << "\n";

}

Define function overloading.
HIvH AETETET Hi afowifad sl
Give duals for the following :

(8) X+XY

(b}  (A+0)-(A]-A)
frfafega & fow et € -

@ X+XY

(b)  (A+0)-(A|-A)

What do you mean by chatting ?
wfen | v w1 gaeE € 7

XS8C-CMS-(OPT).8C
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Section - B

U8 - B
( Short answer type questions )
© (Y I W )
Answer any five questions. 3x5=15
feel gt Wl & SW I

8. What is literal ? Explain different types of literal by giving

appropriate examples.
et T ¥ 7 ST I T U A FR & fetet i e Hi |

9, What is the difference between object oriented programming and
procedural programming ?

Ffeviae F(dee T a9 SNEeRe N & €9 1/ SR § 2

10. What is polymorphism ? Give an example in C++ to show its

implementation. ‘
GfERREeT T £ 7 9% AT @t KEH F 6 c++ ¥ 35w €

11. Differentiate between Constructor and Destructor function.
e T e S & A R R

‘12. List four important operations associated with data structure.

Describe each.
mwﬁﬁﬁmmwaﬁmﬁﬁ@mﬁlmmmﬁl
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What are the various data models available
Ferw fawen & fom sused fafi 31 wirse @ d 2
Prepare a truth table for XYZ+ XY,
XYZ+ N7 & fou uw gu 2ae Tl |
Section - C
«qug - C

( Long answer type questions )

( ¥ Iwg wyT )

Answer any three questions. Sx3=15

fermel <t WAl & I S|
Define a class RESORT in C++ with the following description :

frfafaa fasror & @y c++ & 399 RESORT wiowifsa &1

Private Members

Rno // Data member to store Room No.

Name // Data ﬁlcmbcr to store customer name
Charges // Data member to store per day charges
Days // Data member to store number of

// days of stay
COMPUTE () // A function to calculate amount

// as Days™* charges

XSC.CMS-(OPT)-SC (12)/5074 | 30 7 12
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Public Members

Getinfo () // A function to enter the content

/| for Rno, Name, Charges, Days

‘Dispinfo () // "A function to display Rno, Nam¢, Charges, Days

and Amount (Amount to be displayed by calling

!‘unction COMPUTE () )
[ Note : Write a complete program |

What is inheritance ? What are its various forms ? Explain any onc

by giving suitable example.
Rt w2 W fm T ® ) ST S I Rl @
AR

Evaluate the following postfix expression using stack and show the

contents of stack after execution of each operation :

150, 40, 10, +, 15, 10, -, +, *
INN—— S SR b
Sieer & P 3 o @ A wwt R

150, 40, 10, +, 15, 10, -, +, *
Obtain a simpliﬁéd form for the following Boolean expression using
K-map :
F(A B CD)=2(0,3, 4,5,7,11,13, 15)

XSC-CMS-(OPT)-SC 1 (12)/5074 | 31 / 32
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K-map ¥ an atd fudefig? ows w & forr v% =TI ET s

%
F(A. B, C.D)=110,3,4,57T, 11,13 15|

a) What 1s a network 7
b) What are the dfferent types of networz 7 Exrmlaen cach

a)  deud IR 7

b) Jzudk 9. fafud putr 3 ¥ 7 el ¥ s =9
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